f

)

«..SERVING INDUSTRY WORLD-WIDE SINCE 1919

GENSCO EQUIPMENT (1990) INC.
53 CARLAW AVENUE, TORONTO, CANADA M4M 2R6
TELEPHONE: (416) 465-7521 =+ FAX: (416) 465-4489

GENSCO AMERICA INC.
5307 DIVIDEND DRIVE, DECATUR, GEORGIA 30035
TELEPHONE: (770) 808-8711 + FAX: (770) 808-8739

ACROSS THE USA CALL 1-800-268-6797

E MAIL: info@genscoequip.com

or visit us at www.genscoequip.com/gensco

L




SCRAP HANDLING AND
RECYCLING EQUIPMENT

MAGNETS

CIRCULAR SCRAP HANDLING MAGNETS

for every scrap yard, foundry and mill application.
CANMAG Magnets, Generators, Rectifiers, Controls
and Switches, Magnet Cable, Cable Reels,
Connectors, Chain Assemblies

DYNASET HYDRAULIC POWER SYSTEMS
Full manufacturing and rebuilding facilities.

GRAPPLES

HYDRAULIC - ELECTRIC - MECHANICAL
Orange peel grapples for scrap steel, non-ferrous,
solid waste and garbage. Combination grapples with
rmagnets.

SHEARS

ALLIGATOR AND GUILLOTINE STYLES
MECHANICAL AND HYDRAULIC

Steel - Non Ferrous - Rebar. Hand cutting tools and
shear attachments.

BALERS AND CRUSHING EQUIPMENT
BALING PRESSES in all sizes and types for paper,
corrugated, plastics, non-ferrous and steel
applications.

BRIQUETTERS

CAR FLATTENING EQUIPMENT

DRUM CRUSHERS

ALUMINUM CAN DENSIFIERS

CABLE PROCESSING

CABLE STRIPPING MACHINES

CHOPPERS AND GRANULATORS

CABLE AND WIRE ROPE CUTTING TOOLS
SHREDDERS

INDUSTRIAL AND COMMERCIAL SHREDDERS
FOR ALL APPLICATIONS

ROTARY SHREDDERS for paper, wood, plastics,
textiles, rubber, etc.

REINFORCING STEEL
FABRICATION EQUIPMENT

TABLE BENDERS AND SHEARS in all sizes and
capacities. STIRRUP BENDERS, SPIRAL AND
RADIUS BENDERS,
.MESH CUTTING AND BENDING EQUIPMENT.
"MANUAL CUTTING AND BENDING TOOLS

POWER TOOLS FOR SITE REBAR CUTTING

: AND BENDING. PNEUMATIC MESH CUTTERS,
STRAND CUTTING TOOLS, WIRE ROPE AND
CABLE CUTTING TOOLS

MATERIAL HANDLING
AND SEPARATION

GRAPPLES AND CLAMSHELL BUCKETS
HYDRAULIC - ELECTRIC - MECHANICAL

MAGNETIC LIFTING EQUIPMENT
Permanent and Battery Operated Models
Electric Lift Magnets

MAGNETIC SEPARATION EQUIPMENT
Overbelt magnetic separators

Permanent / Electric  Manual / Self Cleaning
Pulleys, drums, plates

[DYNASET]

HYDRAULIC DRIVEN GENERATORS,
HIGH PRESSURE WASHERS, WELDERS &
AIR COMPRESSORS

ELECTRICAL CONSTRUCTION |

BUS BAR FABRICATING SYSTEMS

Cut - Bend - Punch

CABLE CRIMPING TOOLS

CABLE & WIRE ROPE CUTTING TOOLS
s SHEET METAL PUNCHING EQUIPMENT
"CUTTERS/PUNCHES for DIN support rails

PLEASE CALL US WITH YOUR
REQUIREMENTS. WE WILL BE HAPPY TO
TALK WITH YOU.

TELEPHONEZ VOS BESOINS. IL NOUS FERA
PLAISIR ID’EN DISCUTER AVEC YOUS.

LLAMENOS PARA COMUNICARNOS SUS
NECESIDADES. NOSOTROS ESTAREMOS
COMPLACIDOS DE HABLAR CON USTED.

PARTS - SERVICE

Replacement parts for all your equipment.

Parts shipped daily across North America - from
Toronto and Atlanta

USED EQUIPMENT

The source for all your used equipment needs.
Users from around the world make us their first call.
WE BUY, SELL AND TRADE.

CALL US WITH YOUR REQUIREMENTS.

SALES -

m SINCE 1919.... SUPPLIERS OF QUALITY PRODUCTS & SERVICE

SERVICE -

RENTALS



| HYDRAULiC MAGNET GENERATORS

HMG 3,5 kW with EC - control
HMG 6,10,12, 15, 20, 30 kW 220 VDC

OPERATION MANUAL

Since 1919 GENSCO AMERICA INC. ACROSS the USA 1-800-268-6797
5307 Dividend Dr., Decatur, Georgia 30035 « Phone: 770 808-8711 « Fax: 770 808-8739

m GENSCO EQUIPMENT (1990) INC.

53 Carlaw Ave., Toronto, Canada M4M 2R6
Tel: 416 465-7521 » Fax: 416 465-4489
e-mail: info@genscoequip.com * url: www.genscoequip.com/gensco




DYNASET

HYDRAULIC DRIVEN MAGNET POWER &
CONTROL SYSTEMS

OJO] |

l

e

-

[o]

| L =
!"::::} ‘j
St ~ TU ;!
MIN FLOW PRESSURE . . WEIGHT
P
TYPE
Al Bl C/l D/ E MIN | MAx | LINE | LINE | LINE
L/MIN| GPM | "o e KGS LBS
HMG 3.5kW 220VDC-17 10.0{17.0/11.5]| 9.0 | 6.0 17 5.0 | 2755 | 3625 1/2 1/2 3/8 28 61.6
HMG 6kW 220VDC-30 12.5]19.0|14.5|11.5| 6.5 30 8.0 | 2755 | 3625 1/2 1/2 3/8 49 108
HMG 10kW 220VDC-44 14.5|19.5115.5(11.5| 7.5 44 12.0 | 2755 | 3625 1/2 1/2 3/8 63 139
HMG 12kW 220VDC-52 14.5|21.5|15.5(13.0| 7.5 52 14.0 | 2755 | 3625 1/2 1/2 3/8 76 167
HMG 15kW 220VDC-65 18.0 [ 31.5[17.0|11.5] 9.0 65 17.5 | 2755 | 3625 3/4 1 - 110 242
HMG 20kW 220VDC-92 18.0 | 31.5/17.0|11.5| 9.0 92 245 | 2755 | 3625 | 3/4 1 - 160 352
HMG 30kW 220VDC-120 24.0 | 42.5|22.0|17.5|14.0| 120 | 32.0 | 2755 | 3625 3/4 1 - 210 462
*Dimensions are +/- 1/2 inch *Subject to change without notice
Since 1919 GENSCO AMERICA INC. ACROSS the USA 1-800-268-6797

5307 Dividend Dr., Decatur, Georgia 30035 * Phone: 770 808-8711 « Fax: 770 808-8739

GENSCO EQUIPMENT (1990) INC.

53 Carlaw Ave., Toronto, Canada M4M 2R6

Tel: 416 465-7521 » Fax: 416 465-4489
e-mail: info@genscoequip.com ¢ url: www.genscoequip.com/gensco

e PRI




Rososniee
ORI

DYNASET HYDRAULIC DRIVEN
MAGNET POWER & CONTROL SYSTEMS

A COMPLETE PACKAGE TO PROVIDE 230 VOLTS DC FOR MAGNET OPERATION
INCLUDING GENERATOR, ELECTRONIC AUTOMATIC LIFT/DROP CONTROL AND ON/
OFF SWITCH.

SUPPLIED WITH A FULL VALVE PACKAGE FOR YOUR MACHINE. SUITABLE FOR ALL
HYDRAULIC SYSTEMS: CONSTANT OUTPUT PUMPS, VARIABLE DISPLACEMENT OR
LOAD SENSING SYSTEMS.

PROVEN ON
ALL MAKES OF
EXCAVATORS

IN USE
IN YARDS
AROUND THE
WORLD

AVAILABLE IN 3.5 TO 30 KW SYSTEMS

FEATURES INCLUDE:

*

Constant voltage regardless of engine RPM or Weatherproof design

machine function * Simple, single push button control for magnet
* Equipped with speed controlled hydraulic drive functions
* Safe 24 Volt control circuit (12 Volt optional) * Small compact system for easy installation
* Fast drop circuit standard, with full clean *  No low voltage relay required.

discharge * No bulky mechanical switches and contactors
* Full overload and short circuit protection. *  Qptional outlet for AC Current 110/220V

FACTORY TRAINED TECHNICIANS avadailable for installation and assistance.

CANMAG MAGNETS ¢ Grapples * Combination Systems
* Full Service and Rebuilding Facility *

Since 1919 GENSCO AMERICA INC. ACROSS the USA 1-800-268-6797
5307 Dividend Dr., Decatur, Georgia 30035 * Phone: 770 808-8711 ¢ Fax: 770 808-8739

GENSCO EQUIPMENT (1990) INC.

53 Carlaw Ave., Toronto, Canada M4M 2R6
Tel: 416 465-7521 « Fax: 416 465-4489
e-mail: info@genscoequip.com * url: www.genscoequip.com/gensco




GENERAL

—[DYNASET

DYNASET HYDRAULIC MAGNET GENERATORS

OPERATION MANUAL

Dynaset hydraulic magnet generator transforms hydraulic power into high quality
electricity to used in lifting magnet purpose. All components are built in one unit. Because
of compact construction and little size Dynaset HMG magnet generator is easy to be
mounted on all loading machines.

Dynaset magnet generator is a combination of hydraulic motor, generator and electric
control system. The motor has an automatic speedcontrol valve, to keep speed of
generator steady when incoming hydraulic oil flow can vary from minimum flow up to 20 -
50 I/min more. In case of overloading the generator hydraulic pressure control in main
system is protecting the generator very effectively.

Generators rotor with magnetic windings is directly on hydraulic motors shaft. Electric
power is taken from stator windings where also voltage control system windings are
positioned. Voltage control is working automatically accorring to load. Windings are
insulated from body and protection s filling up norm IP 23 and control box IP 44.

The control electronics is built in metal box next to generator. Magnet is controlled by one
press button on the control lever ( joy stick ). The voltage peaks are prevented by an
effective diode controlled safety resistance. System is operated by safety control voltage
24 V DC. The control electronics take care of counter magnetizing (antimagnetism)
automatically according the properties of magnet. Dynaset Rapid drop control system is
designed for all 220 V DC magnet coils. Inductance of magnet coil with ferrous material
can be 0 to 20 H (Henry). Demagnetizing time cycle is 1.5 to 3 second depending on
inductance of magnet and loaded material.

Dynaset hydraulic magnet generators are manufactured in conformity with the CE 89/392
directive, modified by 91/368, 93/44 and 93/68 directives. They are also manufactured
within standards C.E.I. 2-3, IEC 34.1,VDE 0530, BS 4999-5000 and NF 51.100 as well as
filling up norms ML STD 461 A/B and VDE 0875 class N for radiointerference.

Dynaset hydraulic magnet generators are having a cast aluminium body and rubber
dampers to stationary mounting. Hydraulics is coupled by pressure and tank lines.

EXF LIS A B s ek e e . S8 e o e 2 = e © s s




—DYNASET

INSTALLING

Place for Dynaset HMG is free. The best place is clean and cool. Generator can stand rain
water, but under cover is the most safety place. Take care that generator cooling air flows
freely and without any restraints.

Dynaset hydraulic magnet generator needs only pressure- ( P ) and tank ( T ) line
connections ( marked to speed control block) to hydraulic system. Maximum hydraulic
pressure is 210 bar continuously and 250 bar temporarily. In HMG 30 kW max. pressure is
350 bar.

Tank line must be connected by the shortest way direct to hydraulic tank of machine and if
possible through return oil filter and oil cooler (if exist). Good place for tank line is the cap
I of return oil filter in oil tank. Drill a hole and install extra fitting there. Maximum return oil
pressure is not allowed to exceed 5 bar. Check also that your machine oil cooling s
working together with Dynaset.

In excavators Dynaset HMG is best to connect to main hydraulic pump circuit of
excavator, because all of them have variable flow in main pumps with engine power
control and many of them even computer control for different working modes.

1. OPEN CENTER hydraulic system installation is best to do with Dynaset priority valve.
It takes right adjusted oil for HMG from main pump from main pump pressure line and
have solenoid and pressure relief function for HMG for pressure line. See hydraulic
schema.

2. CLOSED CENTER load sensing system installation is best to do with Dynaset Ls-
control valve. It takes right oil flow from main pump pressure line T-connection for
HMG and has solenoid and pressure relief function. See hydraulic schema.

In cranes same installation methods than in excavators, but some loading machines have
extra pump circuit what is independent of boom functions. The extra pump is good for
HMG and installation can be done e.g. with solenoid operated 3-way valve

Installing sets for most common machines are available at Dynaset Oy. In special
applications the installation will be solved with co-operation with the customer.

Dynaset extra service hydraulic valves for installation:

PVC3C-% 12/24V 160 /90 1/min. priority valve, solenoid, pressure control, 350 bar max.
PVC3C-1 12/24V 350/ 200 I/min. priority valve, solenoid, pressure control. 350 bar max.
PVC3C -1%12/24V 450 / 300 I/min. priority valve, solenoid, pressure control, 350 bar max.

LS - valve 80 Load Sensing control valve 10 - 80 I/min. 350 bar max.

VKV 90 - % Free circulation valve, solenoid, pressure control 90 I/min. 250 bar max.

SV 3/2 - 70 V/min. - R1/2 Solenoid 3-way valve 70 I/min. 250 bar max.

e e s e SR S o T R A e X SR




— DYNASET -

USING

Dynaset hydraulic magnet generator HMG 3,5 kW:

t Control is either hydraulic or electric. Inside electric box there is control card where is a
L switch with two position: HYDR ( Hydraulic control ) and EXT ( electric control ).

Hydraulic control:

Dynaset HMG 3,5 starts working when hydraulic oil flow is turned on. Magnet switches
on when hydraulic oil flow to HMG is 17 I/min and magnetic field start to take ferrous
material. Load from magnet drops when the hydraulic oil flow is turned off. At the same
time the control electronic demagnetises automatically the magnet so that all iron

g : particles drop and magnet is clean.

ArErm—

Electric control by 12 - 24 V:

Dynaset HMG 3,5 starts working when hydraulic oil flow is turned on. Magnet switches
on when socket is connected to 12 - 24 V voltage by an electric switch and start to take
ferrous material. When voltage is switched off the current is disconnected from magnet,
load drops and control electric automatically demagnetises the magnet.

When the overload situation occurs, the overload switch knob jumps up in generator back
cover. The switch is activated again by pressing the knob. The cause to the overload
('short circuit in the cable, etc.) should always be found and removed prior to further use.

Dynaset hydraulic magnet generators HMG 6,0 - 20 kW:

[ When hydraulic system is in order, generator can be started by an electric switch. At the

- same time control power is switched on. When button is pressed first time ( one second is
enough ) the current to magnet is switched on and magnet takes ferrous material. The
material drops by pressing the button second time and current is disconnected. At the
same time the demagnetise current is connected and it discharges the remaining magnetism
so that all ferrous particles are dropping down quickly. The discharging time depends on
the magnet and material inductance. Normal discharging time is 1.5 to 3 seconds. Force of
magnet can be adjusted by pressing the button during discharging time again when
magnetic field goes up and next time pressing, when magnetic field goes again down. This
feature is good to use on material selecting works.

A If the overload situation occurs, the overload protection is activated again by turning the
? switch in generator. The reason to overload should always clarify before further use.

oSS IR AL XS S . T




ety

-~ — DYNASET )

Dynaset hydraulic magnet generator 30 kW with EC - control:

The generator is started by an electrical switch. At the same time the control power is
switched on. The magnet is controlled by a press button on the control lever for the boom.
Pressing the button for the first time and keeping it down, a part of the power of magnet is
switched on, and magnet takes the ferrous material. When button is allowed to rise up a
full power is switched on.

The material drops by pressing button for a second time and the power of magnet is
switched off. And when button is allowed to rise up again, automatically, a demagnetise
current is switched on. This discharges the remaining magnetism of the magnet so that all
ferrous particles are removed from the magnet. The discharging time is 1 to 3 seconds,
depending on the magnet.

[
=

Force of magnet can be adjusted by third pressing and tamping of button control. This
way the magnetic field goes up and down. This feature can be used on material selecting
works.

When the overload situation occurs, the overload protection is activated again by turning

the switch situated in the generator. The cause to the overload ( short circuit in the cable,
etc.) should always be found and removed prior to further use.

SAFETY
Hydraulic oil is hot and under high pressure. It may cause serious damage to people.
: Be sure that all connections are tighten and there is no leaks.
' Check regularly the condition of hydraulic hoses and connections.

In hydraulics there are valid same safety rules as in working machine.

Dangerous voltage - to prevent electric shocks let the service to qualified personnel only.

There are some capacitors in generator electric circuit where are high voltage still after
use. You must wait at least 10 minutes before opening generator and then first check with
multimeter that there is no voltage left.

Do not ever go under load which is lifted with magnet because hydraulic- or electric break
may drop the load down.

Keep your hands away from rotation parts.

B B R R P R P R e e O R R e % SRR




T 8
)

The time of warranty is 6 months.
The warranty includes material and manufacturing faults.
The warranty includes spare parts.

The purchaser of the equipment is responsible for the transportation and installation costs
of the spare part under the warranty.

The warranty void if product has been modified, changed other parts than original or used
wrong.

SERVICE
Check daily that there are no leaks and all parts are properly fixed. Take also care of
general cleanliness of Dynaset product.

Dynaset generators are free of service, but they still inciude parts which have to change
after long life time.

The most important thing in hydraulic service is CLEANLINESS.

Hydraulic system must service according to base machine service instructions ( change of
oil and filter etc. )

How to order spare parts ?

1. Give generators type and serial number.
2. Give spare parts name and number.

e
id e W e P « T A A T A A A L e 4" e Y o st = = e e




.......

AL
LAJ

|
.
|
|
:
|
.
.
.
,,
1
i
;
;
4 EAete—
§ H
I
|
3
|
: S

&w e 7
q || H

.

1L

1k

P—g=s

(i It | T

4 | | DYNASET )
i) o

| |[EEEE| _ B ] H ” “ “

[ o ]

Q min max line| T line i
TYYPPI L W H | A B Umin bﬁr pbo.r‘ Pasp® | ‘aep | Weight

female | female | K9

HMG 3,5kW 220VDC—-17 | MA 4201290 [ 250 { 220 | 150 18 190 250 | G1/2| G1/2 28

Lo,

L

p-d

HMG 6,0kW 220VDC-30 | S| | 490|360 | 380 | 340 {160 | 32 | 190 | 250 | G1/2| G1/2| 49
;; HMG 10,0kW 220VDC-44| SI | 540(360 | 380 | 340 | 160 | 46 | 190 | 250 | G1/2| G1/2{ 63
< . HMG 12,0kW 220VDC-52| NSM | 610|430 [380 (165 | 230 | 54 | 190 | 250 | G1/2|61/2] 76
“ HMG 15,0kW 220VDC—65| NsM | 860| 430 | 380 [280 |230 | 68 | 190 | 250 | g3/4| o1 [ 110

HMG 20,0kW 220VDC—92| NSM | 860| 430 | 380 |280 [ 230 | 95 | 190 | 250 | G3/4| G1 | 160
HMG 30,0kW220vVDC—120| MA [1070| 550 | 600 | 440 | 350 | 125 | 190 | 250 | G3/4| 61 | 210

Osa Plrustuenumero | Oson tol wmmm—' Stondard | Muoto, malil, maora | Laoty Kpl
Tavoratunnus nimitys tol lusttelo Lofimeridd

Vistoleronssit | Mitokoma | Tuota Uttyy MAGNET GENERATOR

__GENSCD | e S5
DIMENSIONAL DRAWING

N

Pt | Pt 090309 | 1/ Ent. [ uuat
Suun. AN

Tork. Wasea 08000012

Hyv.




A i o i

SN SN S E R L VR Ry RN

W els

R SR I

4
e
'y

2

ot

e

s

J

y

]

‘3

.

3

]
:;i
s
&
&
k)
T

s

A,

oz

shut—off valve

OIL FLOW REG. 181/min

riiid

[ GENSCO |

N
@ ] f L [ ] }
GRAPPLE 1
g A A
- 4 4
T |HMG3,5kW220vDC—17 , ‘
MAGNET
Oso Piirustusnumsero | Oson tal kokoonpanoryhmmmon | standorui | Muoto, molli, moara | Lootu Kpi
Tovaratunnus nimilys tol luettelo Lojimerkki
Yieistoleronasit Mittakoaova | Tuote Uitk .
i HMG 3,5kW with
‘hydraulic, control
:u::n TNi240495 G@ R Ent. [ uusi
Tork, Mosso DYNASET



ST A

Priority valve R 3/4

(1

T R P T
/A
B L J [ ] o [ J e
>
N
~
N
|
P | 3l 4 4
l l i 7 7
T |HMG3,5kW220VDC-17 : .
| I l MAGNET
Oso Pilrustusnumero | Oson tal kokoonpanoryhmmman lStundnrdl 1 Muato, malfi, moara ancllu Kp!
Tovaratunnus nimitys tai lusttalo Lajimerkki
Ylsistolsronssit Mittakaova | Tuote

__GENSCO |

Liittyy

HMG 3.5kW with

_priority valve hydr.

piiet, | TNi240495 G‘@ N Ent, { uusi
Suun,

- Tark. Massa DYNASH
Hyv. kg N




R R R

o

A

oy

o,

ST

SELes

RN

s

rodolentn

e [RSU——

)r)(
N A
F—
- - - - 1T
! | Fr——fF—-F—-—-—-——==-=-- 1
| N H ><H M I | I_J_T______P__ |
i—H H i+ I H | | . A 1 A \
N3 |
T TR o ' |DYNASET| |
| 1 | Al i
S b H - H | | L_4ﬁ |
| f I |
L e e - - - - - - = = - | G I
| u
| |
| |
| |

L o o - o d
o Piirustusnumero | Oson tai kokeonponoryhmmmaon 'Slondordi | Muoto, malli, moaro ILoolu Kpl
59 | rovoratunnus nimitys tai_luettelo Lojimerkki
Yieistoleronssil Mittokaovo Tuote Liiltyy
pirt. Hpi 251196 N Ent. [ vusi
Suun.
Tark. Mosso Dv Er 039000170




| |
! <] !
< < I><F-
P <] |
i H H  H H K |
= F [——1 ! L+ | I
| e i !
| M L H Ly H ' |
| f |
b o _;___.u
]
e a7 '
|
| | |
l —ﬂﬂy&. L
Elﬁh’&:/ A . P : 7N\
I | I |
L - - _ _ - _ __ J |
|
_

__GENSCO |

Piirustusnumaro | Oson toi kokoonpanoryhmmman ]Slondordi | Muote, molli, moaro ] Loatu
Oso o . o .

Tovorotunnus nimitys toi luetlelo Lajimerkki
Yleistoleronssil Mittokoova | Tuote Liitlyy

Varioble displocement system

with free circuit

Pirt. kP 251196 (}’@ N Enl, | usi
Suun.
DYNASET




bk 2 i U’ i Al
| re- B ] e
i i
" bge | = 1 L ‘
! , : — ]
| L ff [
| | 1 ™ |
B > |
! | ] r-—mhT "= - = — — - b
, : ] D—J H  H 4 I | 7 P |
I T L o | LS TN 1 \ |
| > ¥ |
o] . .k ' | DYNASET| |
b ! | o M \ |
I | | L - - |
|
L - - - = = = = = = = = = - - | i
| r—-———"————-———————= | I G I
[ | . c. ' | !
| — — = .
| i o | |
' AL N b a U BN
| 4, T~ ~ LN (N (0 (v Qa— I I
| | | M I'—__: _ll i |
| | |
‘_@1 | > : : L :I U 4
<—[S (1 | [ LS _—Control Valve Set for HMG
\ > ) g h 1. Ol flow limiter
| | IL _J| - HMG 35 kW -17 18 I/min
S Rl | -~ HMG 6.0 kW ~30 32 I/min
| — HMG 10 kW -44 46 1|/min
! | - HMG 12 kW =52 55 I/min
b e ~ HMG 15 kW —65 68 I/min
— — HMG 20 kW —-95 97 I/min
2. Solenoid vaglve 12 or 24 V
3. Pressure relief valve 210 bor
4. Shuttle valve
o Piimslusnumer.o Oson tai kokoonpanoryhmmmon | Stondardi | Muoto, moll, maara I Laoty Kpl
59 | Tovaratunnus nimitys toi lueltelo Lojimerkki
- Yieistoleranssit Mittakoova | Tuote Liittyy

Variable displacement pump
with load sensing system

' pirt. HPi 2511986 (}_@ ) Ent. . lUusi
= =2 [DYNASET
Hyv kg A




s

13

Since 1919

—
@)

STATOR

RECTIFIER

CONTROL_UNIT 08030294

SWITCH UNIT

CAPACITOR 2200ufF/100V

RESISTOR 50R/50W

CAPACITOR 2200ufF/450V_ALS 31

OI0|NIO [0 H NN =

RESISTOR 10k/50W

SOCKET MAGNET 220 VDC

LIET MAGNET

SOCKET 220 VAC 50Hz/60QHz

AUTOMATIC FUSE 15A

DIODE —70A UNF 1/4

CONTROL BOX

AL—PLATE 169X249X5

WIRING SET

o NI P S e Y e

PLASTIC COVER

19

EXTERNAL ELECTRIC CONTROL PLUG

Tavaratunnus

Plirustusnumero

Oson tal kokoonpanoryhmmman | Standardi | Muoto, mall, maara | Lootu Kpl

nimitys

tal lusttelo Lofimeridd

Yieistoleranssit

Nittakoava

Tuots

Lty MAGNET CONTROL BOX
WIRING_UST | 3,5 kW ELECTRIC DIAG
COMP_LIST | COMPONENT_LIST

(GENsco_

PHirt,

MRa020797,

Suun,

TNI300496

4®

Tark.

Ent. lUu-l
D'ﬁl‘ﬂ 080301 10A




DYNASET OY KYTKENTAKAAVIO
DIAGRAM OF CONNECTION
HMG 6-20
Sihko:
Electric:
CONNECT OF MAGNET 220 VDC CONNECT OF CONTROL 24 VOC SoLeEN6ID NALVL
f 24Noc

e/ £

MAGNET INDICATOR \_
PUSH-BUTTON ———f\—@——]—
IN CONTROL
STICK —
_l -
3 > —
j +24 VDC

1% ¢ .
1 ==t FROM IGNITION
rJ | 2aa0000005000000000) I SWICH

Hydraulikka:
Hydraulics: RPN conTRoL
| BF GENEVATOR

, /
B :‘ ' 3003




'i o
[
}

b

DYNASET OY

SAHKOKAAPPI

—DYNASET

VARAOSAT
SPARE PARTS

HMG 6-20

L68L9G¥ECT
0909080000]

PCi — CARD

POT - 1

POT — 2

CAPASITOR

K1

K2

RECTIFIER MODULE

SOCKET

T

CAPASTOR K3
(__RESISTANCE
Tasasuuntausyksikko Rectifier module
Diodisaja ' Diode set
Jaghdytyslevyt Cooling profile
Eristyslevyt Insulating plate
Kontaktori - Contactor K1
Kontaktori Contactor K2
Kontaktori Contactor K3
Kondensaattori Capacitor
Ohjauskortti PCI - card
Vastus Resistance
Jannitemittari Meter
Pistoke Socket




|
|
|
|
J

60

L

L

———————

r
|
|
|
|
L

GENERATOR

o2 x 80

- .
SOLENOID
Plirustusnumero | Osan tol kolonpanoryhmmmon | Stondord | Muoto, moll, maara 1 Laows Kpl
0% | rovaratunnue tol_luettelo LoBmeridd
Yatos 28101007 T Vieletol it Tuots Uity
W HMG ELECTRIC SCHEMA
Muntes m'ﬁ.}" e 6,0 kW Rapid Drop
Vuutos 1 ‘Jm Pict. | T 200008 g@ N Ent. | vust
Suun.] TNi 200993
= — DYNASET 08060436
Hyv. ™ v




0 e i i T S e o o

A S L i o

R S e

A
e L
i -
]
| o g
|
]
L.:___.l ol 2 x 6,0
GENERATOR

3534]1” "‘U[;]gg g CURRENT ConTRX

g ol
=
1 S Y O O S Y A
1 1 2 3 4 -] 8 7 8 ) 10
{
! PCI-CARD
| L-- e
SOLENOID ‘
oﬂPﬂruhamm Osan tal hokoonpanoryh { stondord | Mucto, moll, moora | ooty Kpl
e Tavoratunnus nimitye tol luettsio Lafreridd
Since 1919 Mutos 26101997 TH Yieletoleraneeit Mittakaava | Tuots Uttty
MR 1 B HMG ELECTRIC SCHEMA
Minkos 05081908 T 6,0 kW Rapid Drop

L1-12 yhdistysjohto sioke
;.;mwoe"?'ﬁnnf‘“"‘ PR | TN 200098 E}@ " | Ent. | vut

Suun.| THE 200995
Tork Nosea ’I m, 08060436




LS ——
[ ol 82 W H "
{ = n
[ |
:' n m "o
e * | e a4 u
GENERATOR T
>
g g g
[ i
- +
J
-
; 11
i 5 [} 7 8 ']
E PCI—CARD
—EZ]—"L """""""""""""""""""""""""""""""""""""""
SOLENOID

__ GENSCO |
: 12.0 kW Rapid Drop

Plirt. | ™M 05081008 ‘G@ [ lU\d

Suun. 1

= =2 DUNASET| | os120e38
]




— e o g 80

r
|
{
i
]
|
]
|

e

GENERATOR

ol 2 %60

mu 6,0 L;E
1 si L mu 6.0
[ -
' e ©
zziijj, ,r]g]zzz CLFRET cowmat s
r=
: ] ! ¢
yLi_2 3 4 s e 7 8 o 10 N L
|
! PCI-CARD
i |
S A0 - =
SOLENOID
Plicustusnumers | Oson tof kokoong | stondard | Muoto, mat, moors | Loots Kpl
:Tm | nimitys tol luettelo Lafmeridd
Visietoteraneelt Mitickoava | Tuots Wty
[ EENS:D ] HMG ELECTRIC SCHEMA
15.0 kW Rapid Drop
;‘m% TH 03061908 ﬂ@ N | Ent. IMA
- = DYNASET 08150439
Hyv. kg v




e e e e m e i e e ah e e - —— S - — -

¢ Q.
.W 2l 35
\ Ll
mnu
M, ag
W.; CO
} Fw WM wmi m
22| &
\.. we nn/U.
/] m o w
Z SR
o o ﬂ. Mh T m
Q 8 8] o~ M.
= AN €
k] g 3 3 -
1 m_
i3 £
4

e

Pirt. | ML 05061908

Suun.
Tark
Hyv.

( GENSCO |

I .
Y ==a= R
LA\
elelele NO N O i
L_ < AT L
] O
i A - o &
RN |
]
r - | L= -
| | m L] -
| [T “l -
I 'z Yy /1N AL e a
f (Y N1~ o
b 1o > z
< ~
N o
N

T 0 00

R T T T o T 0 T T 9




3 mm
%D
Oy
i 2 .
Hoe2ly
| 53[] 2
E.K o
= o
wo -
mM_ 02| | B
W i3 £ |3
, | lm )
i 1
l ]
o “
“ £
m B
_ 3
“ mmr !
il w
N
4 mm m
: ... I
Bt i HHHE
| §mmmg |
-+ . W |
_ w
u |
it m
vy |
— )
' 5 : | S
“ 2 |
PP 44
_ vV _
m:.._—,\“ “ _. A .. “
! ? iy 19 : |
o ele el = 1 - | c
_ = 2
! k §
| 2 ..._l.._....l.l.. o m
“ b b b 7 : DA“ |
_ el l r G
“B I|m S s N n i m_m m E
_ rls r E
lF ] . s......_ 1 |
L ‘ : “
™ i —
: : ‘—ll.m\ = |
L] s R «n il
i} | w TT .
| .N R :
" d I W -nIU__
: | N, 4 G % 2
[
| )

R RN o S s
S R R R
oo D R R B
R T Il B SO B
R S S B T T O
e B o S B o B S T e



H
i
{
3
L

—DYNASET] ..

11.8.1996/HPi
MAGNETGENERATOR HMG

A. There isn’t voltage in the socket of generator.

- Take the magnet’s plug away from the socket of generator.
- Is there voltage in socket?

- Measure the voltage with electric multimeter from socket.
- Is there now voltage?

1. Rotate the generator almost on nominal speed?
- Does it work the drive switch in the cab?
- Does it work the speed adjuster valve of hydraulicmotor?
- Does it work the regulating valve of generator?
- Does it work the hydraulic system?

The right rotation speed is, when you have frequency 46 Hz +/- 2 Hz or voltage 170 +/- 5 VAC.

2. Is there any AC -voltage from generator to control box?
- Measure 3-phase voltage 150 ... 180 VAC / contactor K1, pole T1, T2, T3.
* Damage in the generator: carbon brushes, rectifier, winding

3. Does it work the control of contactors (K1 and K2 must pull).
- Does it work the control of contactors with the push-button in the cab?
* Electric wire of control, push-button, drive switch
* PCl-card, LED-lights of relays show the work of contactors
* Check the PCl-card with the separate instructions manual.

4. Is there any voltage (220 V DC), check the indicator.
* Contactor K1 heads are broken, measure max. 0,2 ohms on connected.
(Notice: Measure the wires resistance of multimeter and decrease it away from the
value of multimeter)
* Rectifier diodes are short-circuit or broken.
- Measure: + diodes between K1/L1, L2 and L3 to K2/L1
- diodes between K1/L.1, L2 and L3 to K2/L3

5. Measure contactor K2 heads, max. 0,2 chms on connected.

- Check the wiring to socket.
- Start the test again.

B. Demagnetisation doesn’t work

1. Does contactor K3 and K1 connect at the same time for about 1 second, when the voltage turn off with push-
button in the cab.
-the wiring of control, push-button
-PCl-card, check the PCI-card with the separate instructions manual.
(The old PC-card has 12 connections and this new PCI ~card has only 10 connections)
(The old PC-card has replaced to PCI -card from date 29 August 1995 and from
manufacturing number 1377 - )

2. Measure contactor K3 heads, max. 0,2 ohms.

3. Check the tube resistors (25 and 50 ohms) under the control box, diode.
- Check the wiring
- Start the test again.




: HMG INSTRUCTIONS 24.08.1998

P PCI -CONTROL CARD (V2.2 07.10.95) RAPID DROP

24 V INDICATOR LED, green: Led is on when 24V main switch is on.

- If led is off fault is in 24V control wiring from cabin or fuse is broken (6,3A)
K1(red), K2(yellow), K3(green) INDICATOR LEDS: Contactors indicators.

- If contactor is still open, fault is in coil of contactor or in wiring.

- If leds are off constantly, the PCI-card doesn’t work properly.
FAILURE INDICATOR LED(red): Indicator of magnet current metering circuit and control
voltage.

-If led is continuously on at working
N - Cable of magnet is open or broken.
| - Circuit of current metering on PCl-card has failure or the PCI -card has
= not been adjusted right (check the value of potentiometers Virta 1 and
Virta 2)
-If led is flashing after working period there is bad connection in wiring of 24 V.
- If 24 V voltage drop down longer time than 0,2 s the led start flashing.
POTENTIOMETER, Virta 1: Adjust of induction current of magnet at opening contactor K2.
B PCI-card measures automatically the right time and opens the contactor K2 at the
right time without sparking inde
B pendently of inductance and power of magnet.
- Adjusted induction current value can measured by mV-meter (1 mV = 0,001 V)
between V1- and GND -measure points in the card, when 24 V is connected on. 1 A =
40 mV.
- Factory default is +300 mV (= 7,5 A).
- It's possible to hurry up the opening time by increasing V1 -value to 330 mV
(=8,3A)
DO NOT increase too much because that reduces working life of contactor K2.
POTENTIOMETER, Virta 2: Adjust of demagnetising current.
-Adjusted demagnetising current can measured by mV-meter between V2- and GRN -
measure points in the card when 24V is on.
- Factory default is - 100 mV (= 2,5 A).

IMPULSE BUTTON
SOLENOID +24V
+24 VDC

24 VvDC EARTH
CONTACTORS EARTH
CAPACITOR -
CAPACITOR +
CONTACTOR 1 +24V
CONTACTOR 2 +24V
CONTACTOR 3 +24v

SA

AP
DYNASET|

K1 K2.K3 INDICATOR LEDS

CURRENT TRANSDUCERS

08000141

DEMAGNETIC CURRENT
ADJUST

2T~ OrH 13SYNAQ

LYLHIA

Oz

K2 OPEN CURRENT
ADJUST

GND VI &

D
D




LI

£

—[DYNASET

| DYNASET HYDRAULIC GENERATOR HG 6,5 - 70 KVA

SERVICE BULLETIN
17.1.1997/HPi

CAUTION! You must be carefully, because of high voltage, pressure and temperature of hydraulic oil and

rotating parts.
The test must do with warm oil.

Generator does not get excited
1. Insufficient residual voltage

2. Connection interrupted

3. Broken rectifier

4. Low speed

5. Winding breakdowns

6. Poor contact of the brushes
Low no load voltage
1. Low rotation speed

2. Poor contact of the brushes
3. Broken winding

4. Broken rectifier
5. Air-gap in compound too small

1. Excite the rotor using a battery

2. Reset the connection

3. Replace the rectifier

4. Check the hydraulic system and hydraulic
motor (Oil flow and pressure).

5. Check windings resistance and replace the
damaged part

6. Clean and check the slip ring and brushes

1.Check the hydraulic system and hydraulic motor
2. Clean and check the slip ring

3. Check winding resistance and replace the
defected part

4. Replace the rectifier

5. Increase the air-gap in compound

Low load voltage, but correct no load voltage

1. Low rotation speed at full load

2. Compound defected
3. Broken rotor winding

4. Load too high

1. Check the hydraulic system and hydraulic
motor.

2. Check the compound and if broken, replace it
3. Check the rotor winding resistance and if
broken, replace it

4. Reduce the load

High load voltage, but correct no load voltage

1. Condersers on the load
2. Incorrect data of the compound

High no load voltage

1. Excessive speed

2. Air-gap compound too high

3. Breakdown in compound windings

4. Connections of the phases are incorrect

Uneven voltage
1. Uneven rotating speed

2. Poor contact on the slip ring

Noisy sound or oil leakage

1. Short circuit in windings or in loads
2. Broken bearing

3. Broken hydraulic motor

1. Reduce the applied capacity
2. Check the compound windings resistances and
if necessary, replace it

1. Adjust the rotation speed

2. Reduce the compound air-gap _
3. Check the winding resistance and if necessary
change the compound

4. Check and connect the phases properly

1. Check the hydraulic system and motor
Check the automatic speed control valve
2. Clean and check the slip ring and the brushes

1. Check the windings and the loads

2. Replace the bearing
3. Check the hydraulic motor

SIS SRR S oS



[

DYNASET

VARAOSAT
SPARE PARTS
ERSATZTEILE
HMG 3,5
GENERAATTORI - RUNKO MA
GENERATOR - BODY MA
GENERATOR - FULLE MA
Numero  Nimitys Name
Number
Nummer
2 Vaarnaruuvi 7/16 UNF-M8 L=200 Stay bolt
3 HG kartio 3,5k HG coupling cone
4 HG laippa M.A. 3,5k - HG flange
5 HG etujalka 3,5k HG front foot
6 HG Takajalka 3,5k HG back foot
7 Hammasp. 11-R Gear motor 11-R
7.1 Hammasp tiivistesarja Gear motor gasket set
8 Akselitiiviste 17x30x7 FPM Axel seal set
9 Laippaliitin imukulma 15 Flange joint elbow 15
10 HG py6r.nop.saadin lohko HG speed control block
11 Vin.sdadinpatruuna Flow control cartbridge.
12 Vastaventtiili Check valve
13 Kulmaliitin 15 RK 1/2 Elbow 15 RK 1/2
14 O-rengas 15.3x2.4 O-ring 15.3x2.4
15 Tulppa R 3/8 6-kolo DIN Plug hexagon R 3/8
16 Tulppa R 1/4 6-kolo DIN Plug hexagon R 1/4
17 Tulppa R 1/8 6-kolo DIN Plug hexagon R 1/8
18 Putki HG-HK 15 =330 Pipe HG-HK 15 1=330
19 Ruuvi,6-kolo M6x50 Screw,hexagon M6x50
20 Ruuvi,6-kolo M8x20 Screw,hexagon M8x20
21 Ruuvi,kuusio M8x16 Screw,hexagon M8x16
22 Ruuvi kuusio M8x20 Screw,hexagon M8x20
25 Mutteri,M8 Nut,M8
*28 Vikavirtasuoja 2 nap.25 A 30 mA Earth leakage relay
* 29 V-mittari 250 V AC D 52 Volt meter
30 Eturunko Drive end bracket
31 Suojus Cover
32 Tuuletin Fan
33 Roottori Rotor
34 Staattori Stator
35 Laakeri Bearing
36 Takarunko Non drive end bracket
37 Kondensaattori Capasitor
38 Ruuvi Securing stud
40 Péétykotelo Terminal box
42 Tulppa Rubber cap
45 Pistorasia Socket
46 Automaattisulake Automatic fuse
* Lisdvaruste * Accessory

Bezeichnung

Zentriersstift

HG kupplung konus

HG flansch

HG vorderbein

HG hinterbein

Zahnradmotor 11-R

Dichtung teil

Achse dichtung teil

Flansch konnektor 15

HG kontrolle block

Fluss kontroile

Kontrolle ventil

Konnektor winkel 15 RK 1/2
O-ring 15.3x2.4

Propfen innerhexagon R 3/8
Propfen innerhexagon R 3/8
Propfen innerhexagon R 3/8
Réhre HG-HK 15 1=330
Schraube,innerhexagon M&6x50
Schraube,innerhexagon M8x20
Schraube,sechskantkopf M8x16
Schraube,sechskantkopf M8x20
Mutter, M8

Schutzschalter

Volt messer

Vorderer gehduse

Schutz

Lufter

Rotor

Stator

Hinter lager

Hinteres geh&use

Kondensator

Zugstange

Deckel

Gummistopfen

Steckdose

Automatisch schalter

* Zubehor

Since 1919

SRR RTRRE SR K



2' — Dﬂ{ASET

HG 3,5

GENERAATTORI - RUNKO MA
GENERATOR - BODY MA
GENERATOR - FULLE MA

L
=

B e S, T o St e K o

VARAOSAT
SPARE PARTS
ERSATZTEILE

1098KV

(GENSCO )

R R R ST TR




1
i

H
I

‘.‘1’5"'3\"' Y

;.. ESQUEMA ELECTRICO'

COUVERCLE
DECKEL
TAPA

CUFFIA
TERMINAL BOX LID

Mmoo

TR TS

RESISTENCIA DELOS?
- BOBINADOS'A 20°C:DEE .
TE!IP_E!ATUMAMBIEI!TE
3000 RPM - 110+220 V - 50 Hz 3600 RPM - 120240 V - 60 Hz
Tipo Statore Rotore Eccitazione Tipo Statore Rotore Eccitazione
Type Stator Rotor Exciting Type Stator Rotor Exciting
Type KVA | Stator Rotor Excitation Type KVA | Stator Rotor Excitation
Typ Stator Rotor Erregung Typ Stator Rotor Erregung
Tipo Estator Rotor Excitacion Tipo Estator Rotor Excitacion
Q x fase/phase | Q Q Qx fase/phase | Q Q
At-A 1.5 1.880 3.070 11.380 At-A 1.8 1.480 3.070 6.320
A1-8 2.2 1.230 2.930 6.270 At1-B 26 1.010 2.930 4.400
A1-C 35 0.810 3.550 2.850 A1-C 4.2 0.570 3.550 2.330
A1-D 41 0.520 4,020 1.470 A1-D 5 0.360 4020 1.250
ST —————r D 3000 RPM 3600 RPM 60 Hz
mﬂ"‘& cmcno@, it ﬁﬁm@“’ 0 RPH 50 Hz ,
! M & BSORBIIURZIH Tipo |Volume d'aria |Rumore  |Volume dana | Rumore
P m mﬂm Type |Air volume Noise Air volume | Noise
UENSAIUHENS ENSROUNEIR Type |Volume d'air  |Bruit Volume d'air | Bruit
Typ |Luftmenge Gerausch |Luftmenge | Gerdusch
Tipo |Volumen de aire | Ruido Volumen de aire ;luido1
2 o m |im m [im
Tipo / Type / Type / Typ I Tipo uF 1ac 220 V=50 Hz | tac 240 V<60 Hz m¥/min dBA |dBA | m3/min dBA |dBA
At1-A 10 1.30 16 Al-A | 25 56|72 32 60| 77
A1-8 10 1.30 1.6 At-B | 24 56172 | 31 60 | 77
A1-C 20 240 3.0 A1-C | 23 5617273 60 | 77
A1-D 315 3.40 41 A1-D | 23 56|72]3 60 1 77




el

v a  boMetm Ao o

At e g A | e - S s sl RS

PP ST

These self-exciting and self-regulating generators of
compact, overed dimensions are design for high-level
electrical perfomance and maximum operating refiability.

START-UP

Make sure, when starting up, that cooling air intake and
discharge openings are free and unblocked. In case al-
ternator has been stored for a long time and in order to
avoid damages caused by humidity we suggest that —
through a 500 V megger — the insulation resistance of
all windings be checked towards ground, including the
rotor. The resulting data must be higher than 1
megaohm. If data are not higher than said value then
apply a stream of warm air o the windings till the above
mentioned value is obtained.

Ensure that the alternator's rotational sense is anticlock-
wise when looking at it from opposite end to coupling
end.

We also recommend (when the machine operates in a
dusty enviroment) periodic checks to make sure afterna-
tor is properly ventilated.

THE IMPORTANCE OF SPEED

Frequency and voltage depend directly on rotational
speed. This must be kept as constant as possible on its
nominal vaiue no matter what the load. Drive-motor
speed control systems generally have a small drop in
speed between no-load and joaded conditions. We
therefore recommend setting no-load speed 3+4%
above nominal speed.

CHECKING VOLTAGE

All the machines are regulated during factory testing. If
voltage readings differ from the value indicated on the
name plate, this may be caused by a wrong reading or
by a different rotational speed and we recommend regu-
lating motor speed in order to have nominal RPM under
loaded conditions.

GROUND CONNECTION

For ground connection there is a hole in the upper part
of the end bracket which is accessible without having to
remove end cover.

DIODE CHECK-UP

For test with ohmmeter it is best to disconnect diode
from circuit. The famp lights on only in one sense.

PRELIMINARY CHECKS

Carry out a thorough visual check prior to modifying alternator
in any way. Check connections of several components, event-
ual cable ruptures, or loose connections. if said search gives

negative results then foliow carefully the instructions indicated

on “trouble - shooting table”.

PROBLEMS CAUSES REMEDIES
1 - Check RPM
and set at nomi-
1 - Loow speed. nal value.
Alternator 2 - Faulty con- 2 - Check and
excitation denser. replace.
failure 3 - Faulty wind- 3 - Check that
ings. winding resist-
ance is as shown
in the tables.
;iéhSpee" 100 | 1. Check and
High no-load . adjust RPMs.
voltage 2 COndenser | 5 Check and
ciy. gh cap: replace.
1 - Check and
1-Speed tolow. | adjust RPMs.
2 - Faulty rotary 2 - Check and
g diodes. replace.
sownoload | 3 Breakdown in | 3 Check vind-
g windings. ing resistance, as
4 - Condenser per tables.
with low capacity. | 4 - Check and
replace.
1 - Check an
1 - Low loaded
Proper no-foad speed. ;e?%?‘fcsm
but low 2 - Load too big. change
loaded voltage 3 - Rotary diodes 3. r(,Dghéck and
short-circuited.
replace.
Proper no-load
but high High loaded. g?:gpﬂd regu-
loaded voltage ’
1 - Loose con- ;ect?c?:“ con-
Unstable tacts. 2- Chesék for uni-
voltage 50;1 Uneven rota- form rotation
: speed.
1- Brokén bear- | 1 -Replace.
| 1" | 2 e
2 - Poor coupling. | repair.




—[DYNASET

S ‘ VARAOSAT
: HG 6,5 SPARE PARTS
HMG 6

o
P
e
.

GENERAATTORI - RUNKO SI
GENERATOR - BODY SI

P Numero Nimi Name Varaosaumero Médri
Number Spare part number Quantity
74 Virtaussaitopatruuna Flow control cartbidge 74 1
75 Vastaventtiiliyksikko Check valve unit 75 1
76 Tulppa 6-kolo R1/4 Plug hexagon R1/4 76 1
78 Tulppa 6-kolo R3/8 Plug hexagon R3/8 78 I
79 6-koloruuvi M6 x 50 Screw hexagon M6 x 50 79 1
80 6-koloruuvi M6 x 35 Screw hexagon M6 x 35 80 4
82 Laippaliitin kulma 15 Flange joint elbow 82 1
: 83 O-rengas 24,5x 2,5 O-ring 24,5 x 2,5 83 1
84 6-koloruuvi M8 x 20 Screw hexagon M8 x 20 84 4
85 O-rengas 15,3 x2,4 O-rengas 15,3 x 2,4 85 1
86 Putki Pipe 86 1
88 Kulmaliitin 15L-RK 1/2 Joint elbow 15L-RK1/2 88 1
92 Kytkinkartio Coupling cone 92 1

b

__GENSCO |




e —

HG 10
HMG 10

Numero

Number

O 0N LN —

—[DYNASET

GENERAATTORI - RUNKO SI
GENERATOR - BODY SI

Nimitys
Miira

Puhallinkotelo
Eturitild
Tuuletin
Roottori
Takaritila
Laaken
Lukituspultti
Lukitusmutteri
Hiiliharjat ja -pidin
Liitinruuvit
Tasasuuntaaja
Saidin

Kotelo

Kansi

Laippa

Ruuvi M8 x 25
Pultti

Hammaspy6rimoottori 16 - R

Titvistesarja
Akselitiiviste 10 B - 17 - 30
Venttiililohko

VARAOSAT 05/98 KV
SPARE PARTS

Name Varaosanumero
Spare part number Quantity

Front shield 1 1
Front grid 2 2
Fan 3 1
Rotor 4 1
Rear grid 5 ‘ 1
Bearing 6 1
Stay bolt 8 1
Selflocking nut 9 2
Brush holder with brushes 10 1
Terminal 11 1
Rectifier bridge 12 1
Regulator 20 1
Cover 23 1
Plate 24 1
Flange 4120 1
Screw M8 x 25 33 4
Bolt 34 4
Gear motor 16 -R 70 1
Gasket set 71 1
Axel gasket 10 B - 17 - 30 70b 1
Valve block D3007 1

(GENSCO )




HG 10

Numero
Number

74
75
76
78,
79
80
82
83
84
83
86
88
92

HMG 10

—DYNASET

GENERAATTORI - RUNKO SI
GENERATOR - BODY SI

Nimi

Virtaussditdpatruuna
Vastaventtiilivksikké
Tulppa 6-kolo R1/4
Tulppa 6-kolo R3/8
6-koloruuvi M6 x 50
6-koloruuvi M6 x 35
Laippaliitin kulma 15
O-rengas 24,5x 2.5
6-koloruuvi M8 x 20
O-rengas 153 x 2.4
Putki

Kulmaliitin 15L-RK 1/2
Kytkinkartio

VARAOSAT
SPARE PARTS

Name

Flow control cartbidge
Check valve unit

Plug hexagon R1/4
Plug hexagon R3/8
Screw hexagon M6 x 50
Screw hexagon M6 x 35
Flange joint elbow
O-ring 24,5x2,5

Screw hexagon M8 x 20
O-rengas 15,3 x2,4
Pipe

Joint elbow 15L-RK1/2
Coupling cone

Varaosaumero
Spare part number

74
75
76
78
79
80
82
83
84
85
86
88
92

Miira
Quantity

[ e S R N I Y

_ GENSCO )




SCHEMA ELETTRICO TRIFASE e THREE PHASES ELECTRIC PLAN

HG 6.5, HG 10, HMG 6, HMG 10

VERDE/GREEN
ROSSO/RED
NERO/BLACK
=== o = == = l"---| :
B LSO
1 | VERDE/GREEN

]

)

! - | ! NERO/BLACK
| 1

i

]

O O 0

w2 u2 v2

 Serorasmi 54 %
re/s i

ROSSO/RED 1+ ROSSO/RED

# VERDE/GREEN
- NERO/BLACK

(1~) @ G @ e
MAX 60 % |W Q) &
I

(3~)

NERO/BLACK

CARATTERISTICHE ELETTRICHE « ELECTRICAL DATA » CARACTERISTIQUES ELECTRIQUES
(50 Hz - 3000 RPM - 230/400 V)

i ;
RESISTENZA DEGLI AVVOLGIMENT! (20°C) i DATI ECCITAZIONE
i |
! WINDINGS RESISTANCE (20°C) - EXCITATION DATA
f RESISTANCE DES BOBINAGES (20 °C) DONNES D'EXCITATION
; i i
PO ' STATORE |  AUS COMPOUND
TYPE kVA STATOR : AUSX ! SERIE PARALLELO =~ ROTORE A VUQTO A PIENO CARICO
: : i ¢ {
TYPE i STATOR AUX j SERIE ! PARALLEL ~  ROTOR NO LOAD FULL LOAD
: {*) ; ' SERIE ' PARALLELE ' ROTOR AVIDE EN CHARGE NOM.
Q i Q ] Q ‘ Q Q vdc Idc vdc I
GS 100 7/4 : 4 3.660 3,27 f 0,503 1,80 171 16 09 73 34
GS1007/55 55 2,140 251 : 0.286 1,79 209 18,7 09 ' g5 3.5
GS100T/65 65 1327 2,33 | 0,200 1,80 254 22 0.86 m 35
i s ! . .
GS 100 /8 ‘ 8 - 0% 197, 012 179 . 218 as . 09 2 37
. . * | P i ‘ ' :
GS100TA0 ~ 10 . 0700 181 | 0,081 | 180 | 312 316 09 i 1318 36
‘ ', !. [ ; ‘;
l ; ! , '

. i i e . o e e e e 1 e e e e e = o e e



]
<
<
m
q‘.

HG 12 VARAOSAT 07/98 KV
§ HMG 12 SPARE PARTS
' ERSATZTEILE
e
g GENERAATTORI - RUNKO NSM
GENERATOR - BODY NSM
£ GENERATOR - FULLE NSM
=
‘ Numero  Nimityvs Name Name Varaosanumero Kpl
Number ) Spare part number Pcs
Nummer Ersatzteilnummer Stiick
- 19 Tasasuuntaussilta Rectifier bridge Gleichrichtung brucke 19 1
} 20 Puhallinkotelo Coupling flange cone 30 Anstellung flansch kegel 30 20 1
= 21 Lukitusmutteri M8 Locking nut M8 | Interlock mutter M8 21 1
22 Saadin Compound Regulator 22 1
23 Runko ja staattori Frame and stator Fille und stator 23 1
24 Liitinruuvit 6 wires terminal board 6 garn konnektor 24 1
26 Lukituspultti Shaft tierod Interlock bolzen 26 1
30 Vastus (HMG) Resistor (HMQG) Resistanz (HMG) 30 2
31 Ylivirtasuoja Overcurrent protector Uberstromschutz 31 1
32 *Vikavirtasuoja (lisiv.) *Residual current device.(opt.)*Schutzschalter (zubehor) 32 1
, 33 Johdonsuoja ( HMG) Automatic fuse (HMG) LS schalter (HMG) 33 I
] 10 Laippa Flange Flansch 40 1
43 Ruuvi kuusio M8x25 Screw hexagon M8x25 Sechskantschraube M8x25 43 4
70 Hammasp.moottori 19-R Gear motor 19-R Zahnradmotor 19 - R 70 1
P 71 Tiivistesarja Gasket set Dichtung serie 71 1
72 Akselitiiviste Axel gasket Achse dichtung 72 1
73 Venttiililohko Valve block Ventil block D 3007 1
i 74 Virtaussddtopatruuna Flow contro! cartbridge Fluss kontrolle patron 74 1
! 75 Vastaventtiilivksikko Check valve unit ., Kontrolle ventil 75 1
' 76 Tulppa 6 - kolo R 1/4 Plug hexagon socket R 1/4  Pfropfen innensechskant R V4 76 1
. 78 Tulppa 6 - kolo R 3/8 Plug hexagon socket R 3/8 Propfen innensechskant R 3/8 78 1
f 79 6 - koloruuvi M6x50 Screw hexagon socket M6x30 Schraube innensechskant M6x50 79 4
b 80 6 - koloruuvi M6x20 Screw hexagon socket M6x20 Schraube innensechskant M6x20 80 4
82 Laippaliitin kulma 15 Flange joint elbow Flansch kniekonnektor 82 1
83 O - rengas 24.5x2.5 O -ring 24.5x2.5 O -ring 24,5x2,5 83 1
84 6 - koloruuvi M8x20 Screw hexagon socket M8x20 Schraube innensechskant M8x20 84 4
85 O - rengas 15.3x2.4 O -ring 15.3x2 .4 O -ring 15,3x2,5 85 1
i 86 Putki Pipe Réhre 86 1
- 88 Kulmaliitin 15 L RK ' Joint elbow 15 L RK Y2 Kniekonnektor 15 L RK %2 88 1
’ 92 Kytkinkartio Coupling cone Kupplung konus 92 1
} * HG - generaattori - HG - generator
!
-
[ GENSCO




[ ’ SCHEMA DI COLLEGAMENTO - WIRING DIAGRAM - SCHEMA UES CUNNEAIUIND

PONTE DIODI ROTORE AUSIUARIQ STATORE
RECTIFIER BRIDGE ROTOR AUXIUARY N STATOR
% : — ] | 13 0 Q=
iy = B0 1 1
I O 'H ! !
é . -] L o ! ! 3Q viQ »Q

SLIP RING

1 N‘Sﬁ1 COMPQOUND
! GE 132 x[yTz]~~T~Tu[v]wluvi]m
3 — i {——

{ -
!
P

@ |
O®
‘O
676
¥5%)

o

b

—!
EmEwEH
CJOIC)]

|

3 phase 1 phase 1 phase
230V 50 Hz 230V 50 Hz 400V 50 Hz 230V 50 Hz
MAX 60% MAX 40%
(v CARATTERISTICHE ELETTRICHE - ELECTRICAL DATA - CARACTERISTIQUES ELECTRIQUE (50Hz - 230 V / 400 V)
: RESISTENZA DEGLI AVVOLGIMENTI (20°C) DAT! ECCITAZIONE
WINDINGS RESISTANCE (20°C) EXCITATION DATA
RESISTANCE DES BOBINAGES (20°C) DONNEES D'EXCITATION
TIPO STATORE | AUS. COMPOUND ROTORE A VUOTO A PIENO CARICO
TYPE KkVA | STATOR| AUX. uus - ROTOR NO LOAD FULL LOAD
TYPE STATOR | AUX. W1 7 ROTOR A VIDE EN CHARGE NOM.
’ (n) Q Q Q Q Vde I de vdae | 1de
: 4 poles -50 Hz -1500rpm _
! GE132SA/4 | 6 1.9 2.3 0.13 0.9 21 32 1.5 140 5.0
GE132SB/4 | 8 1.3 2.3 0.09 1.0 24 40 1.6 150 4.8
GE132 MB/4 | 10 0.8 23 0.06 1.1 27 48 1.7 160 47
GE132 LA/4 | 125 0.6 2.3 0.04 1.2 31 55 1.7 170 45
GE132 LB/4 | 15 0.4 2.3 0.03 1.4 35 62 1.7 180 4.2
GE132 LC/4 | 20 0.3 2.2 0.02 1.7 45 72 15 200 3.8
5 2 poles -50 Hz -3000rpm
itMGIA [GE132 MBl2 | 125 | 0.7 3.0 0.09 1.5 25 34 1.4 140 5.0
| GE132 LA/2 | 15 0.5 2.6 0.06 1.7 28 40 1.4 150 47
. GE1321B2 | 20 0.4 2.6 0.04 1.8 32 46 1.4 170 46
GE132LC2 | 25 0.25 2.5 0.02 1.9 41 60 1.4 180 45

(") Pertensiona nominale diversa da 400V:
For rated voitage different from 400V:  Res2=Rest x (Volt2 / Volt1)? ex: mac.: GE132 LB/4 Volt2= 415V
Pour tension nominal different de- 400V: Rstats 0.4 x (415/400)* =0.43Q




VARAOSAT / SPAREPARTS
HYDRAULIKKA / HYDRAULICS
HG, HMG 15, 20 kW

Numero Nimitys
Number Name

70 Hydraulimoottori
70 a Tiivistesarja
70b Akselitiiviste
70¢c Tukirengas

71 Venttiililohko
72 Venttiilipatruuna
72E Venttiilipatruuna
73 Venttiili

74 Tulppa

75 Tulppa

76 Tulppa

77 Tulppa

78 O -rengas

79 Ruuvi

82 Laippaliitin

83 O -rengas

84 Ruuvi

86 Putki

88 Liitin

90 Venttiililohko

91 Venttiilipatruuna
93 Kiila

94 Kytkin/moottori
95 Kytkinkumi

96 Kytkin/generaattori

DYNASET

10.3.1996

Name

Hydraulic motor
Seal kit

Shaft seal
Backing ring
Valveblock
Cartridgevaive
Cartridgevalve
Valve

Plug

Plug

Plug

Plug

O -ring

Screw

Flange joint

O -ring

Screw

Pipe

Joint
Valveblock
Cartridgevalve
Vedge
Coupling/motor
Rubbercoupling
Coupling/generator

Varaosanro
Spare part number

70
70a
70b
70c.D
71.D3007
72
72E
73

74

75

76

77

78

79

82

83

84
86.D
88.BL15.R1/8.1/2
90

91

93

94

95

96



FORMA
MONOFASE

CODICE

TL1008070

{1 inavora are 814

PARTI DI RICAMBIO SPARE PART UST PIECES DETACHEES
CODE
7 {3GLAL Rate di protezione per Protaction screen for SAE | Grille de protection pour
scudo SAE flasque SAE
112 | SAAL Rotore svwoln Woundedrotor Roue poteire bobinde
20A { 3SLA30008 Scudo antar. SAE 3 Coupling flanga SAE 3 Flasqueavant SAE 3
208 { 3SLA30003 Scudo anter. SAE 4 Coupling flanga SAE 4 Fasqueavan,. SAE<
20C | ISLAS0004 Scucto antar. SAES Coupling flanga SAES Flasque avan. SAES
20 {3SLA30005 Scudo anter. cono 30 Couplingtiangacone30  (Flasque avant cone 30
15 |3SLA30007 Scudo anter. B3 B14 Coupling flange 83/814 | FasqueavantB3/B814
13 [ 1VGA30001 Véntola Fan Veriawour
123 15FAL Carcassaconstatoreavwolln | Frame with wounded stator | Carcasse avecsttor bobing
2 |5CLA. Compourxd Compound Transt.de compoundiage
6 |3MVPOOSOCY | Pioloportaspazzole Brushholderpin Vis du porte balai
8 TPRPAR2840 | Passacaw Fair - load Presse-etoupe
19 |KPUT25A12 | Pontediod eccitazione 25A- |Excitationrectifierbridge | Pontredresseurdexcitation
1200V, 25A 71200V 285A11200V
10 | 70C0%0 Anelio dicompensazions Compensationfing Bagueda compensation
21 (T2 Tirameaibero Shafttierod Tigecentraie
11 |[TCVE2102Z | Cuscinetn postsriore 6210-22{ Rear bearing 6210-2Z Roulement amiers 6210-22
18 | 7CV63082Z Cuscinatic antariors 837814 {Frontbearing 83/B14 Roulement avant 83/814
6308-22 6308-2Z 6308-2Z
1 2GGA30008 | Cufflaaspirazione aria Suction casing Rasquearmiers .
§ |7PSROs10 Portaspazzoiacomplen Brush hoiderwith trushes | Porta-balais complete:
9 TCOGES02 Coliettore Slipring Bagues
25A | TATGI300T Moo per cisco SAE 3 SAE 3coupfingdischub | Moyeu pour disqueSAE 3
258 | TATGI3008 Mozzo per disco SAE 4-5 SAE 4-5 coupling dischuby | Moyeu pour disque SAE 4-6
14. | TATDI0OO. Digchi SAE ... SAE ... discs Disques SAE...
16 | IMVBOo8 Bussoladiriduzione dacono 30| cone 30 o cone 23 adapter | Douille de reduction cane 30
scano 23 cone 23
25 | TMTPOSOS Morsettiara a 6 permi- M6 6§ wires tarminal board - MG | Plaque 4 bormes - M8
17

Couplinakey 814

Claverted ‘scoouniement 814

1]
oL

Poi
con
piec!
indiq
dos |
dasir,
maro
e t
tattern



SCHEMA DI COLLEGAMENTO - WIRING DIAGRAM - SCHEMA DES CONNEXIONS

PONTE DIODI ROTORE AUSILIARIQ STATORE
RECTIFIER BRIDGE ROTOR AUXIUARY — STATOR
mQuzQ vz
- |
o 111
“HOH | | |
=
COtLETIORE - v viO »Q
SLIPRING

! N‘SM COMPOUND
L GE 132 X[ Y]2]~]~] ~]
= |

ulv [wluviiwm
-
1

;
;
|
I
¢

@ @ ? S 0.0
QX0 O, CXCIO
3 phase 1 phase 3 phase 1 phase
230V 50 Hz 230V 50 Hz 400V 50 Hz 230V 50 Hz
MAX 60% MAX 40%
CARATTERISTICHE ELETTRICHE - ELECTRICAL DATA - CARACTERISTIQUES ELECTRIQUE (50Hz - 230 V / 400 V)
RESISTENZA DEGLI AVVOLGIMENTI (20°C) DATI ECCITAZIONE
WINDINGS RESISTANCE (20°C) EXCITATION DATA
RESISTANCE DES BOBINAGES (20°C) DONNEES D'EXCITATION
TiPO STATORE | AUS. COMPOUND ROTORE A VUOTO A PIENO CARICO
TYPE KVA | STATOR| AUX. lm ’;: ROTOR NO LOAD FULL LOAD
. , TYPE STATOR | AUX. W-W1 z- ROTOR A VIDE EN CHARGE NOM.
- ") )
; Q Q Q a Q Vdc i de vdc | tde
4 poles -50 Hz -1500rpm = o
A GE132SA4 | 6 1.9 2.3 0.13 0.9 21 32 15 140 5.0
GE132SBM4 | 8 1.3 2.3 0.09 1.0 24 40 1.6 150 48
GE132 MB/4 | 10 0.8 2.3 0.06 1.1 27 48 1.7 160 4.7
GE132 LA/4 | 125 0.6 23 0.04 1.2 31 55 1.7 170 45
1GE132 LB/A | 15 0.4 2.3 0.03 1.4 35 62 1.7 180 4.2
GE132LC/4 | 20 0.3 22 0.02 1.7 45 72 1.5 200 3.8
2 poles -50 Hz -3000rpm
GE132 MB/2 | 125 0.7 3.0 0.09 1.5 25 34 1.4 140 5.0
GE132 LA2 | 15 0.5 2.6 0.06 1.7 28 40 1.4 150 47
I GE1321B/2 | 20 0.4 2.6 0.04 1.8 32 46 1.4 170 46
= GE132LCR2 [ 25 0.25 2.5 0.02 1.9 41 60 1.4 180 45

i
[
{:
i

(") Pertensione nominaie diversa da 400V:

For rated voltage different from 400V:  Res2=Rest x (Volt2 / Voit1)? ex:  mac.: GE132 LB/4 Volit2= 415V
Pour tension nominal different de 400V: Rstat= 0.4'x (415/400)* =0.43Q

e



INSTRUCTIONS TO CHANGE SEAL

1) Remove item 86

2) Remove item 82

3) Remove back fan cover

4) Remove 4 - 8 mm allan screws

5) Hold pump to generator fan housing

6) Lock pump by inserting a large flat blade screw driver between gears

7 Unscrew item 92 from pump shaft using a wrench on coupling cone flats
5’ 8) Remove shaft seal using a small pick or screw driver
g

9) Install new seal and retaining plate and snap ring

= 10)  Assembly is reverse to disassembly

i Gensco Equipment (1990) Inc.

i 53 Carlaw Avenue, Toronto, Ontario Canada M4M 2R6
Telephone: (416) 465-7521 In the USA 800-268-6797
Fax: 416-465-4489

t - Serving industrial markets world-wide since 1919

e



/

£ /DYNASET OY VARAOSAT
S SPARE PARTS
Hydrauliikka
Hydraulics
L
I l
\ s |
(o]
' i .~

70
70a
70b
¥0c
71
Tle
73
74
75
76
77
78
79
82
83
84
86
88
90
91
92

Hydraulimoottori
Tiivistesarja
Akselititviste
Venttiililohko
Patruunaventtiili
Patruunaventtiili
Venttiili

Tulppa

Tulppa

Tulppa

Tulppa
O-rengas

Ruuvi
Laippaliitin
O-rengas

Ruuvi

Putki

Liitin
Venttiililohko
Patruunaventtiili

Kytkinkartio

Hydraulic motor
Seal kit

Axle seal
Valve block
Catridgevaive
Catridgevalve
Valve

Plug

Plug

Plug

Plug

O-ring

Screw
Flangejoint
O-ring

Screw

Pipe

Joint

Valve block
Catridgevalve
Coupling cone



ALTERNATORI TRIFASI 2 POLI
. 2 POLES THREE-PHASE ALTERNATORS
serie ET ALTERNATEURS TRIPHASES 2 POLES
DREIPHASIGER GENERATOR MIT 2 POLEN
ALTERNADORES TRIFASICOS 2 POLOS

HG 6.5,HG 10,HMG 6,HMG 10

CARATTERISTICHE TECNICHE TECHNICAL CHARACTERISTICS CARACTERISTIQUES TECHNIQUES
TECHNISCHE EIGENSCHAFTEN CARACTERISTICAS TECNICAS

2 POLI -2 POLES - 2 POLES - 2 POLEN - 2 POL.OS

* 50 Hz - 3000 r.p.m. 60 Hz - 3600 r.p.m.
TIPO copice POTENZA POTENZA PESO
TYPE CODE POWER o POWER o WEIGHT
TYPE CODE PUISSANCE n% PUISSANCE n% POIDS
TYP KENNZEICH. LEISTUNG (4/4 cosy=0.8) LEISTUNG (4/4 cosp =0.8) GEWICHT
TIPO CODIGO POTENCIA POTENCIA PESO
B35
KVA kVA ka
ET4 81301072-X2 4 73 5 73.5 25.1
ET55 81301095-X2 5.5 75 8.9 76 28.3
ET?7 81301125-X2 7 79 9 80 32.3
ET 85 81301150-X2 8.5 81 10.5 82 36.8
ET 10 81301180-X2 ; 10 83 13 84 41.2
ET7/4 81301125-X203 . 7(3~)/4(1-) 82 9(3~)/5.2(1~) 83 32.5

SCHEMA ELETTRICO ELECTRIC DIAGRAM SCHEMA ELECTRIQUE SCHALTSCHEMA ESQUEMA ELECTRICO

_:OMEI.JNO— r_STATO—R
’. SUP RING /cmr“_ I S —L
: '—:}cx_-i{-l =£oi—| = l—_‘_ég
TN\ L =
g —— = .
ROTOR | | | |

U2 o OREN l- | o | —. | BLACK "
3 n <22 P — T
L Wy X ! EREREN i = | —-———a-lm Wl




HG 12 VARAOSAT 07/98KV
HMG 12 SPARE PARTS
ERSATZTEILE

GENERAATTORI - RUNKO NSM
GENERATOR - BODY NSM
GENERATOR - FULLE NSM

{
i
b
¥

Numero  Nimitys Name Varaosanumero Kpl
Number Spare part number Pcs
- Nummer Ersatzteilnummer Stick
b 1 Suojus Cover Deck 1 1
5 Hiilet ja hiilenpidin Brush holder with brushes ~ Kohile und halter 5 1
6 Hiilen kiinnitysruuvi Brush holder pin Schraube halter 6 1
8 Tuippa Cap Propfen 8 1
9 Kollektori Slip ring Kollektor 9 1
10 Jousi Compensation ring Feder 10 1
12 Roottori Rotor Rotor 12 1

(GENSCO )




GENSCO PRODUCTS

Since 1919, GENSCO. . . Suppliers of quality products and services to the scrap and steel industries.

COMBINATION
GRAPPLES
-W/MAGNETS

CABLE STRIPPER

MERCURY 40 BALER

SUPPLIERS OF NEW AND USED EQUIPMENT

GENSCD v mence. ne,

5307 Dividend Dr., Decatur * Georgia 30035 * Tel: 770 808-8711 = Fax: 770 808-8739
www.genscoequip.com GENSCO EQUIPMENT [1930] Inc.

el . 53 Carlaw Ave., Toronto * Canada M4M 2R6 » Tel: 416 465-7521 » Fax: 416 465-4489
E-mail: info@genscoequip.com




b

«.«.. THE trusted name for all scrap handling
and processing equipment

For over 80 years we've been part of the scrap industry. Earning a reputation for honesty
and reliability over the long haul. We know the equipment. We know the job. Try us ...
Whether you're talking new or used equipment, we've got what it takes to get the job done.

GRAPPLES - Hydraulic, cable and electric styles. For all ferrous, non-ferrous and solid waste :
applications. Scrap yards, ports, foundries and mills. Special combination grapples with magnets. :
“DC" grapples for magnet cranes.

MAGNETS - A complete selection of magnets for all scrap yard and mill use. Cast shell and
fabricated styles. Generators, controls, rectifiers, reels, connectors and magnet cable with parts
shipped daily across North America. Full manufacturing and repair facilities. Send us your =
repairs, or burn-outs for trade in. Special combination grapples with magnets. Dynaset hydraulic -
magnet power systems.

CABLE PROCESSING - Cable strippers for all sizes and types of cable. Complete cable }
granulation and chopping systems - for cable, wires and electronic scrap. A full set of tools and
systems for cutting cable, wire rope and ACSR. }

SHEARS- Alligator and guillotine style shears for every application. Nobody knows alligator shears
better. Mechanical or hydraulic in blade lengths to 36 inches. Cut steel, clean metals, cut cable - |
or rebar, we have the machine for the job. High quality portable and stationary guillotine shears
in a range of sizes. Combination shear-balers. Plus numerous speciality tools for every cutting
application. )

BALERS AND BRIQUETTERS - Hydraulic baling presses for every application - from paper and 1
PET through non-ferrous and the heaviest steel application. Automatic and manual systems. Log !
balers. Combination shear-balers. Portable and stationary models. Briquetters and “densifiers”
for non-ferrous and UBC. Special briquetters for shredded products including paper, wood,
metals and steel.

SHREDDERS - A full range of shredders and grinders for all scrap applications including paper and
wood products, plastics of all types, metals and numerous other materials; dual shaft, slow

speed-high torque shredders plus unique rotary style machines with screens for uniform size chips ;..
on all hard to shred materials. J

USED EQUIPMENT and PARTS - Nobody offers a wider range of used equipment, plus services %
and supplies for the scrap industry. Visit us. We offer the scrap industry full manufacturing and &
rebuilding facilities, plus a large inventory of replacement parts for countless machines

regardless of age. Now in our two locations - Toronto and Atlanta - to get you the supplies when ¢~
you need them.

paees

FOR AN UPDATE OF ALL NEW & USED EQUIPMENT PLEASE VISIT OUR WEBSITE: WWW.GENSCOEQUIPCOM




